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10.

Prakash Jhais a

(A) Cricketer (B) Industrialist

(C) Film personality (D) Musician
P.V. Sindhu is related to

(A) Football (B) Hockey
(C) Badminton (D) Volleyball

SAIL stands for

(A) Sports Authority of India Ltd.

(B) Steel Authority of India Ltd.

(C) Sales & Auctions International Ltd.

(D) Sports & Athletics International League

Who amongst the following is top leader of Russia?

(A) Vladimir Putin
(B) Netanyahu
(C) Bo Xilai

(D) Angel Markil

Nelson Mandela is from which country?
(A) Zimbabwe (B) Nigeria
(C) Sudan (D) South Africa

Nehru Cup Snake Boat Race is a famous boat race in
the State of

(A) Kerala
(C) Goa

(B) Karnataka
(D) Tamil Nadu

Service Tax is collected by

(A) State Govt.

(B) Central Govt.

(C) Municipal Authority
(D) Gram Panchayat

Food Security Scheme is a

(A) Commercial Insurance Scheme

(B) Social Security Scheme

(C) A Security Scheme to prevent external threat
(D) A Security Scheme to prevent terrorism

Pyarelal is a famous

(A) Comedian
(B) Drama Artist
(C) Cricketer
(D) Musician

Al-Jazeerais a famous

(A) T.V.Channel
(B) Radio Station
(C) Print Magazine
(D) Newspaper

10.

UIRT T &

(A) Topdbe TS (B) gt
(C) Thoalt g&cil (D) EIMdPR
d & Ry fre & wafia ¥

(A) peard (B) @i

(C) ¥sfdiea (D) drefiater
AT FT

(A) Sports Authority of India Ltd.

(B) Steel Authority of India Ltd.

(C) Sales & Auctions International Ltd.

(D) Sales & Auctions International League

frafofla & @ w8 @ @ aar aiT §2
(A) cafedR gfaa

(B) Adr=aTg

(©) s TS

(D) T HATfher

AoTT HST fohg 2 ¥ E7
(A) TSFarea

(C) T

A® BT TP dic I rg I5g i ufdg Aler Els ® 2

(A) I (B) waTed
(C) Tar (D) afdrer g

(B) AT
(D) &f&ToT 3rshiehT

[ar R Fhad gRT ThilAa fomar Sirar &2
(A) TSI PR
(B) thg PR

(C) Fgfaftue HARE

(D) T TETET

W GET Al &

(A) TEERe AT Jeter

(B) WA GI&T Arstelr

(C) aTEd 3MHAUT & faEg Teh FIaT Arsterr
(D) 3MTciehdlg & fa%g Teh FI&T Arefel

WRele T uflg € |
(A) TTET hellPR

(B) 3@ 3nfére

(C) Terdhe TRemsY

(D) FINdPR

I SoIRT v ufdg__ ¥ |
(A) T I

(B) IfzaY T

(C) ©uat arelr gfaar

(D) AR Ux
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11.

12.

13.

14.

15.

16.

17.

18.

Harappa & Mohanjadaro are presently in

(A) India

(B) Afghanistan
(C) Iran

(D) Pakistan

Ashtangika Marg (Eight fold path) was given by

(A) Mahavira

(B) Rishabhdev

(C) Lord Buddha
(D) Mahatma Gandhi

Who was the guide of Chandragupta Maurya?

(A) Parshwanath
(B) Kautilya

(C) Vasupujya
(D) Numinath

Kalinga War, which changed the mindset of Ashoka,
was fought at a place presently in the State of

(A) Bihar
(B) Jharkhand
(C) Chhatisgarh
(D) Orissa

Chola Kingdom was located in place, largely in State
of , at present (Fill in the blank)

(A) Tamil Nadu
(B) Gujarat
(C) Orissa
(D) Maharashtra

Who was the first Muslim ruler of area near Delhi and
around

(A) Mohammad-Bin-Qasim
(B) Mohammad Ghori

(C) Mohammad Ghazni
(D) Iltutmish

Which is the odd one:

(A) Shahjahan
(B) Jahangir
(C) Balban
(D) Akbar

Nehru Committee Report was the first Indian attempt
to draft India’s own Constitution (in 1928). Who was
related with this report?

(A) Moti Lal Nehru

(B) Jawahar Lal Nehru
(C) Arun Nehru

(D) Kamla Nehru

11.

12.

13.

14.

15.

16.

17.

18.

@ 3R AeasieR3eidd Fal £7
(A) #Rd

(B) ITIMTAEAT

©) &=

(D) uifered=

TR ART (3776 Wies AR fraa far?
(A) HEEIR

(B) =®ucH

(C) #vTa g5

(D) FgTcAT e

dgIEr A @ AR aF BT a1 ?
(A) T
(B) ®ifeea
(C) argfra
(D) FH=Y

Hfcer gg o nie & Feifar dea e e
W ST 9T, 9% HTolhd [l T & 87

(A TR

(B) IRWs

(C) Bl

(D) 33r&m

oqd THST O &7 #H A, g% TASH b
T # ¥

(R Ta= &)

(A) dfdrerarg

(B) ISHId

(C) 33r&m

(D) HERTE

feeeh @ Reeeh & mwura @ g AP AwE BT
aqr?

(A) AreFAG a9 wIfaa

(B) HigFHG T

(C) HAIgFHAG TTolel

(D) FoqgdfAy

Pfaf@a d @ e Rome:
(A) QmgsTel
(B) SR
(C) deraa
(D) 3HehsX

5% FAd RO fordlt AR @ ger e a1 e
WA & 3T AU for@a & dIfer o (1928 )|
g Rue ¥ ala @&fa a1

(A) A ofrel AT

(B) STETER ol Ae®

(C) 30T AE®

(D) HHAT AEE
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19.

20.

21.

22.

23.

24.

25.

26.

“Hind Swaraj” was written by

(A) Gopal Krishna Gokhale
(B) Lala Lajpat Rai

(C) Mahatma Gandhi

(D) Bal Gangadhar Tilak

In which year did Gandhiji took up the famous
Champaran Satyagrah?

(A) 1914
(B) 1917
(C) 1927
(D) 1935

A well cut diamond appears bright because

(A) it emits light

(B) it is radioactive

(C) of total internal reflection
(D) of dispersion

Force of friction depends upon:

(A) area of surfaces in contact

(B) weight of surfaces in contact

(C) nature of surfaces in contact

(D) angle of inclination with the horizontal

Image formed by a convex mirror is

(A) Virtual
(B) real

(C) enlarged
(D) inverted

If a body is acted upon by equal and opposite forces
then:

(A) The resultant would be zero
(B) The body would not move at all
(C) Both (A) & (B) are correct

(D) Neither (A) nor (B) is correct

Short sightedness is also called as:

(A) Myopia

(B) Hypermetropia
(C) Presbyopia
(D) Astigmatism

Bleeding is stopped by the application of ferric
chloride. This is because

(A) The blood starts flowing in opposite direction

(B) The ferric chloride seals the blood vessels

(C) The blood reacts and forms a solid which seals the
blood vessel

(D) The blood keeps flowing and the blood vessel is
sealed automatically

19.

20.

21.

22.

23.

24,

25.

26.

“fee T R R ford e
(A) INTTS HTOT NG

(B) @l oITeTud I

(C) FeleaAT ey

(D) Tl IR el

fora af & i S & uflg JuRoT deanE foRar?

(A) 1914
(B) 1917
(C) 1927
(D) 1935

Th IS W P EIH W AHbar g3 R@E Iam ¥
it

(A) TE AT Ear

(B) Ig IfE3Nufdea &

(C) I RE T ATARGRIGIA & FHROT

(D) themae & HROT

Tdur fir afs AR e ¥

(A) TUF F 3 el T & &

(B) HUFG H 3T el Ade & AR

(C) TUF & 3T aTel T I UPpfa
(D) T&fast & wror @1 Fepra

3de MY & gRT o=if BT adr §
(A) ag37el

(B) 3rgelr

(C) @&

(D) 3ecr

Ife v 98] W WeR AR Roda afs g s ar
(A) AT 2 g

(B) a%q Feger e feeel

©) (A) IR (B) A=t & &

(D) (A) 3R (B) &t & &&= €

U N TR BT FASR BT Peelidl &
(A) ST

(B) ERUTASITEAT

(C) utHearafaT

(D) 3nfEaedfaea

HRP FolRES & WS § G el I ST & Hifeh

(A) G & 3ecr foom & agar

(B) Wiker FelRes WA M AZAT o W X Sam

(C) TG 3 TART eI hr ATZAT A el A &am &

(D) G &l &dT & 3R g & aifsar 3o 3mw A
Rl IcT
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27.

28.

20.

30.

31.

32.

33.

34.

Association of molecules in water is due to:

(A) Covalent bonding
(B) Hydrogen bonding
(C) lonic bonding

(D) Vander Waals forces

In which of the following cases, cooking is very slow?

(A) Pressure cooker at sea level

(B) Pressure cooker at higher altitude
(C) Open vessel at sea level

(D) Open vessel at higher altitude

Referring to the list of vertebrates, which is the correct
sequence of evolution?

(A) Bony fish — amphibians — reptiles — birds
(B) Birds — bony fish — amphibians -- reptiles
(C) Amphibians — reptiles — bony fish — birds
(D) Reptiles — birds — bony fish — amphibians

The least six digit number which is perfect square is

(A) 100000
(B) 100489
(C) 100100
(D) None of these

What is the percentage decrease in the area of the
rectangle when each side is reduced by 50%7?

(A) 50%
(B) 100%
(C) 25%
(D) Depends on the sides of therectangle.

In a certain code language, if 21 + 22 =7 and 23 + 24 =
11, find the value of 11 + 12="?

) 11
(B) 5
©) 7
(D) 25

In a certain code, language ‘123’ means ‘Green is Red’,
‘24’ means ‘Red colour’, and ‘326’ means ‘Green and
Red’, then what is the code for ‘Colour is Green’?

(A) 146
(B) 632
(C) 134
(D) 462

34. 4,196, 16, 169, ?, 144, 64

(A 21
(B) 81
(©) 36
(D) 32

27.

28.

29.

30.

31.

32.

33.

34.

urelt 3 Afagew &7 W e HROT BT ©
(A) ®Ideic gifgar

(B) TTEBISIA qifsar

(C) s3nfaw affdar

(D) TS aTed BRIA

AT A § T UaEr e 9 st gt #2
(A) MR Pt FHL del T

(B) R P& Fa18 W

(C) Gl acied FHGI dael W

(D) Qo g Fa1 W

fof@a 5 & =& ao oot & @ d & &
wites Tarepre &Y ufhar i

(A) 231 dTell AS-STeT Ul UoN—1a arerr yrofi—gaf

(B) U&f-T33r atell AGel-oId Il GOt — o7 arerm grofr
(C) Sta ¥er yrofi—doral arerr uroN-gsdl arell ASel -uah

(D) oret arerm groft -uall -g23r arell AGE- o Ul groh

(A) 100000
(B) 100489
(C) 100100

(D) I & A

TP AT & &9%a # fhda ufaead wem@ gom afg
THAT YAF N 50% TeT R IR

(A) 50%

(B) 100%

(C) 25%

(D) 3T & HNHT W AR T &

frey 1 smor F IR 21+ 22=73N 23 +24 =11, @
11 + 12= ? 919 HioA

(A) 11

(B) 5

) 7

(D) 25

frdt s Har A I ‘123’ A1 AdeT ‘T AT &, 24
& Aded ‘o v, 3R 326' N Aded ‘T 3R a1,
A W E PR P §?

(A) 146

(B) 632

(C) 134

(D) 462

4, 196, 16, 169, ?, 144, 64
A 21
(8) 81
(C) 36
(D) 32
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DIRECTIONS (35 to 37): Six friends P, Q, R, S, T and U are
sitting around the hexagonal table each at one corner. P is
second to the left of U. Q is the neighbour of R and S. T is
second to the left of S.

35.

36.

37.

38.

39.

40.

41.

Who is sitting opposite to T?

(A) R
(B) Q
©) s
(D) Cannot be determined

Out of five, four pairs are alike. Find the odd one:

A) QS
() P,R
(© T.U
O) TP

Who are the neighbours of P?

A) U&P
B) T&R
(C) U&R
(D) Data inadequate

One morning after sunrise, A and B were standing on a
garden with their back towards each other. A’s shadow
fell exactly towards his left hand side. Which direction
was B facing?

(A) West
(B) East
(C) South
(D) North

Anuj, Balu, Chandu and Divi are playing caroms. Anuj
and Balu are partners. Divi faces towards North. If
Anuj faces towards West, then who faces towards
South?

(A) Chandu

(B) Balu

(C) Divi

(D) Insufficient information to predict

Hareesh ranks tenth from the top and forty —fifth from
the bottom in a class. How many students are there in
the class?

(A) 56
(B) 55
(C) 54
(D) 52

Find the odd one out:

(A) 25
(8) 81
(C) 49
(D) 45

faéer (35 ¥ 37) : B AET P, Q, R, S, T3 U Teh WehlvT s I
W TP Bl WAS E PU & a1$ o @ g Fa’l W 1 QR 3R S
&1 USHT &1 TS & 18 3R & g@ T W R,

35.

36.

37.

38.

39.

40.

41.

T & AT slader g

(A) R

(B) Q

(C) S

(D) UAT AL ST ST HehelT

U A IR A3 T SN §| e S a1 R
A) Q, S
(B) P,R
() T,U
(D) T,P

P & UsRiY @la ¥
(A) U&P
(B) T&R
(C) U&R
(D) SAprY QU el

T Gae GAleT & ag.A 3R B T @l A v q@y
WE AT s Wb @S A A Hr ST 30 TS WP
Us T At B & o fra & & uz W e

(A) uffrer

®) @

(C) gfgyor

(D) W

3, a1, 95 AR R For gw w ¥ 31T AR g
Th g & @l ¥ R s A RE P w1 I ¥
AR e URW s e awd doT §, @ am@er A
G g T P Jo1 ¥

(A) T=g
(B) dre]
©) ffa
(D) ST QI et

e & FH W F gHd T W IR G ¥ dafead
I W &I 39 PN A fopdar Rt €2

(A) 56
(B) 55
(C) 54
(D) 52

=aH ¥ e oifew:

(A) 25
(8) 81
(C) 49
(D) 45
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42.

43.

44,

45.

46.

47.

48.

Find the odd one out:

(A) PLANET
(B) PENCIL
(C) MOBILE
(D) BOTTLE

Pointing to Kapila, Sumithra said, “I am the only
daughter of one of the daughters of her father.” How is
Kapila related to Sumithra?

(A) Niece

(B) Aunt

(C) Mother or Aunt
(D) Mother

If A x B means A is the daughter of B; A + B means A
is the father of B. A% B means A is the mother of B
and A—B means A is the brother of B, then S% T + U —
V x W indicates which relation of S to W?

(A) Brother

(B) Sister

(C) Nephew

(D) Mother in law

What is my mother's daughter’'s daughter to my
daughter?

(A) Mother

(B) Cousin sister or sister
(C) Niece

(D) Aunt

The digits of a two digit number differ by 5. Find the
difference of the number and the number formed by
reversing its digit.

(A) 18
(C) 36

(B) 27
(D) 45

Sid puts his time piece on the table in such a way that
at 9:15 p.m., the minute hand will point at West, in
which direction will hour hand will point at 6:00 p.m.?

(A) North
(B) North-West
(C) South
(D) South-West

Five persons were playing card game sitting in a circle
all facing the centre. Kapil was to the right of Naresh
and between Naresh and Hareesh. Amit was to left of
Sumith. Who was to the right of Hareesh?

(A) Kapil
(B) Sumith
(C) Ashish
(D) Amit

42

43.

44,

45.

46.

47.

48.

TR ¥ e oifew:
(A) PLANET
(B) PENCIL
(C) MOBILE
(D) BOTTLE

iUl HI RSB FART A Y, AT F Her, & gad
s & afedt & & v I& H gepelld A& T B
&1 giaT 8§ F1 F9Y 87

(A) srSit

(B) e

(C) & a7 HiAY

(D) &t

Ifg A x B &I AdAT & AB T I §&; A+B B Aded &
AB HI faar ¥ A% BHT Aded & A B fY @rar & 3R
A—B & ATAT € ABHT S & adl SBT+U-V xW,
S& WH fpg dayg o gAfar & 2

(A) $

(B) @&

(C) sraT

(D) @8

A AT A A& A8 A I Frw gE?
(A) &

(B) HAQ/GH Tea a1 TR

(C) wrsh

(D) Hieh

foRdY &Y 3P aTelr TTAT F BT F IHTH A 5 PN H=R
¥l 37 g=r AR 39 3@ B SedT P W EERT A A
R T & 38 ISy
(A) 18
(C) 36

BE & 3 g A9 W PO 59 e @ W& 6 9:15
p.m W fAae Hr g§ uffs it |& A, @ 6:00 p.mW
He #r g$ e farm A @ww wele

(A) 3

(B) >oR-ufeT

(C) efe&or

(D) afgyur-ufRrs

uig cafth U IMSPR AT WX el qAr Fsd O
¥ FOT TRA & g8 WP AR NI T Ty F fa
a1l AT GRAY & 95 RE A T F G TE DA
ar?

(A) Hiter

(B) gfaa

(C) 3w

(D) AT

(B) 27
(D) 45
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Select the correct alternative from the given choices:

49.

50.

51.

52.

53.

54.

55.

56.

57.

58.

1,2,3,5/7,10,13,17,?

(A) 19
(B) 20
(C) 21
(D) 22

1,2,3,6,9,18,7,54

(A) 18 (B) 27
(C) 36 (D) 42

4, 23,60, 121, ?

(A) 212 (B) 221
(C) 241 (D) 242

4,5,9,14, 23,37, ?

(A) 58 (B) 53
(C) 60 (D) 50

26, 30, 39, 55, 80, ?

(A) 105 (B) 129
(C) 96 (D) 116

The height of Mt. Everest is

(A) 8100 m (B) 8248 m
(C) 8302m (D) 8848 m

The only ocean named after a country is

(A) Pacific Ocean
(B) Indian Ocean
(C) Atlantic Ocean
(D) Arctic Ocean

A triangular land area formed at the mouth of a river is
called

(A) Delta

(B) Estuary
(C) Glacier
(D) Ice berg

The area of India is about,-

(A) 5.28 million sg.km.
(B) 7.28 million sg.km.
(C) 3.28 million sg.km.
(D) 9.28 million sg.km.

Ghaghrariver is a tributary of

(A) Krishna

(B) Brahmaputra
(C) Godavari
(D) Ganga

fAeafaf@d # @ w8 faweu giad:

49.

50.

51.

52.

53.

54.

55.

56.

57.

58.

1,2, 3,5, 7 10, 13, 17, ?

(A) 19
(B) 20
©) 21
(D) 22

1,2 3,6,9, 18, ?, 54

(A) 18 (B) 27
(C) 36 (D) 42

4, 23, 60, 121, ?

(A) 212 (B) 221
(C) 241 (D) 242

4,5, 09, 14, 23, 37, ?
(A) 58 (B) 53
(C) 60 (D) 50

26, 30, 39, 55, 80, ?

(A) 105 (B) 129

(C) 96 (D) 116

BT TRTE N a5 et 2

(A) 8100 #Hrex (B) 8248 #HIieX
(C) 8302 #AreX (D) 8848 X

TFh AT ATHAPR a1 fordY 8 & a3 W &t
(A) URd FAETIER

(B) foee #FEEWR

(C) 3edifcsd FATRAPR

(D) 3Thfed FFEWR

T FARIOT &1 S fRel A & @ W e
(A) Seer

(B) TEE

(C) TR

(D) 3T a9f

HRT AT &% ¥,

(A) 5.28 million sq.km.
(B) 7.28 million sq.km.
(C) 3.28 million sg.km.
(D) 9.28 million sg.km.

HTERT <Y fohq AT T T e &
(A) povm

(B) sreIgAT

(C) IeTay

(D) aram
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59.

60.

61.

62.

63.

64.

65.

66.

67.

68.

The Soil formed due to the rivers like Ganga, Satluj,
Brahmaputra etc. is called

(A) Alluvial soil
(B) Black soll
(C) Red sall
(D) Laterite soil

One of the following is a Rabi crop.
(A) Rice (B) Cotton
(C) Jute (D) Wheat

Subhash Chandra Bose Airport (Dum Dum Airport ) is
in which city of India?
(A) Delhi

(C) Kolkata

(B) Mumbai
(D) Chandigarh

The largest natural port of India is in

(A) Chennai (B) Mumbai
(C) Vishakhapatnam (D) Gujarat

The famous Dilwara Temples are located in which
state of India?

(A) Karnataka
(C) Rajasthan

(B) Hyderabad
(D) Odisha
The capital of Denmark is

(A) Dhaka
(C) Cairo

(B) Canberra
(D) Copenhagen

Digboi in Assam is famous for its

(A) Tea

(B) Oil Refinery
(C) Tobacco
(D) Jute

Sunderbans wild life sanctuary is located in

(A) Uttrakhand

(B) Arunachal Pradesh
(C) West Bengal

(D) Kerala

The currency of Saudi Arabia is

(A) Euro
(B) Dinar
(C) Riyal
(D) Pound

Tertiary Sector of Economy represents

(A) Agriculture
(B) Mining

(C) Manufacturing
(D) Services

50.

60.

61.

62.

63.

64.

65.

66.

67.

68.

33wt §

(A) 3MecfiaTer AT

(B) el fAed

(C) wrar T

(D) dexrse faed

g # ¥ o © B ¥

(A) TTae (B) &urg

(©) (D) M

FHY Tog; A WRAE (G &7 WRUE) fha o & ¥
(A) el (B) s

(C) reTpram (D) TBTE

R FT TS I3T WIHfad de9Ne PieT AT &7

(A) AT (B) e
(C) TaQm@mdaH (D) IR

g ReaEERR sRa & fha T & ¥2
(A) Pedcd (B) RemETg
(C) TerEdTd (D) 3nfd

AT & ST F=T 2
(A) oTeRT
(C) &

(B) FeTer
(D) PUAINA

A & Boag forw fow ufag &7
(A) I

(B)aaﬁqﬂsafr

(C) darg

(D) S

I g Siael @YY He W w7
(A) >REs

(B) 3T¥UTITe WeRr

(C) Ui e

(D) &Tel

THE) IRG & RfAFT (HE)) = §e
(A) T

(B) fear

(©) Rarer

(D) U3

IicTaEAr o IR Ve Bl &2
(A) P

(B) Gele

(C) et

(D) Fa?
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69.

70.

71.

72.

73.

74.

75.

76.

77.

Indian economy is completely

(A) Private Sector
(B) Public Sector
(C) Mixed economy
(D) Pre-agrarian

Largest milk producing country in the world is

(A) India

(B) Pakistan
(C) Denmark
(D) Australia

National Rural Employment Guarantee Act was passed
by the Parliament in the year

(A) 2012 (B) 2002

(C) 1998 (D) 2005

The excess of total expenditure over total receipts, in

the budget presented by the Finance Minister, is called

(A) Fiscal deficit
(C) Primary deficit

(B) Budget deficit
(D) Revenue deficit

Income Tax is a

(A) Direct tax
(C) Indirect tax

(B) Concurrent tax
(D) Toll Tax

Gold stock of Reserve Bank of India

(A) is the only type of Foreign Exchange Reserve
(B) is one type of Foreign Exchange Reserve

(C) (A) & (B) above both are true

(D) None of these is true.

‘Bear’ in a stock market works in the hope of stock
prices

(A) will fall
(B) will rise
(C) for both
(D) for none of the above

In a family, Shri Prakash lives with his wife and his two
married brothers. One of his married brother has two
children and the other one has no child. How many
total members are there in a family?

(A) 12 members
(C) 6 members

(B) 8 members
(D) 10 members

In the group of an equal number of Cows and
shepherds, the number of feet was 28 less than the
four times of number of heads. How many numbers
were of shepherds?

(A) 07
(© 21

(B) 28
(D) 14

69.

70.

71.

72.

73.

74.

75.

76.

77.

AR 3rfeTaedr gt ave & @ ¥2
(A) s Taex

(B) TrdaIfasd Haex

(C) Freh et 3rdegaean

(D) P qd ¥caaw

o & JeQ T Y Scured A arer A FiA 4@ 2
(A) AR

(B) uiferedr=

(C) 3THATh

(D) 3ireeferam

T AT PR RS HRAATH dog o g af &

g fpar?

(A) 2012
(C) 1998

(B) 2002
(D) 2005

Pl T A Pl AT A HAFT, O FN & gRT TR
goic A AT DA ©

(A) T =rer (B) e ©@mer
(C) wruafd® =mer (D) TreTEd ©Ter
I T 7

(A) UcTaT & (B) FeAld AT
(C) 3MUcTaT & (D) Trel &

(A) PR Tl RSTder Teh A UhR
(B) U UPR &I Bkl Taedsl Ratd
(©) (A) 3R (B) A=t F& ¥

(D) 31 & &S o |Er A B

I Mg N FEIATA i Ahe H Tid HraAdr A
fora 3mem & AT &2

(A) PrRe &

(B) daet

(C) gt & fow

(D) 1S o =g

T URar # ANt yr & @y sEH el 3R 3Eh o
R s E Pt A FFaR EIRN W F
P Tt 78 ¥ IRaR & o fraar T €2

(A) 12 ge&Eg (B) 8 WeEy

(C) 6 Ge¥a (D) 10 ¥eEg

WER F&Ar # Rt AR aret & v wHg 7 RV A
e Rt fr e & GR e ¥ 28 @ Af| @t Hi
e et e
(A) 07
(€) 21

(B) 28
(D) 14
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78.

79.

80.

81.

82.

83.

84.

85.

If P is the husband of Q, and R is the mother of S and
Q, then what is the relation of P to R?

(A) Mother (B) Sister
(C) Aunt (D) Mother in law

In a class, the average age of 19 girls is 21 years. If the
age of a teacher is also included, the average age
becomes 22 years. Find out the age of teacher.

(A) 39 years (B) 41 years
(C) 40 years (D) 44 years

17:60::20: 7

(A) 57 (B) 69

(©) 81 (D) 93

6:64::11:7

(A) 144 (B) 169

(C) 121 (D) 124

In a line of girls, Kamla’s place is on 9" from left and

Veena’'s place is on 16™ from right. If they exchange
their places, Kamla's place becomes 25" from left.
How many total girls are there in a line?

(A) 34 (B) 36
(C) 40 (D) 41

Suresh was born on 4" October, 1999. Shashikant was
born six days before Suresh. Independence Day fell on
Sunday in that year. On which day Shashikant was
born?

(A) Tuesday
(C) Monday

(B) Wednesday
(D) Sunday

If a man starts journey from a place on his bike
towards South about 4 Kms, then he turns to left and
covers distance of 2 Kms., again turns rights and
covers 4 Kms. In which direction is he now going?

(A) North (B) West
(C) East (D) South

Manish covers distance of 8 mts. by his cycle towards
South-West direction and then turns to East and
covers 20 mts. From there he covers 8 mts. towards
Noth-East and then goes to West and covers 6 mts.
From there again he covers 2 mts. towards North-East
and then goes towards West upto 4 mts. He then goes
to South-West upto 2 mts. and stops there. How far
away is from the starting point?

(A) 12 mts.
(B) 10 mts.
(C) 8 mts.
(D) 6 mts.

78.

79.

80.

81.

82.

83.

84.

85.

g Pufld g Qar IR RATAMTME SIR QfFr, A RA P
F FT TEYT §7?
(A) &
(C) #Hielr

wh FET # 19 @EfRdr f dea g 21 av ¥ IR
Rers & g # off wiFafoa wv forar sme, ar siwa
Y 22 9§ g S ¥ Rewd fr 3g AT HiGA|

(B) s
(D) &g

(A) 39 a§ (B) 41 a¥
(C) 40 @y (D) 44 a¥
17:60 :: 20 : ?

(A) 57 (B) 69
(C) 81 (D) 93
6:64::11:7

(A) 144 (B) 169
(€) 121 (D) 124

wsfRal T T ufeh F waem @ IR T ot ¥ R dew
o AR & 1640 | AR A S TAET B 3rEem TG W
o o doen a$ MR & 258 F S ¥ if F g
frceh iRt 2
(A) 34
(C) 40

(B) 36
(D) 41

YA PT SeH 4 IR, 1999 T ;T AT| ARVPIT BT ot
QA6 & Ueel G AT| 30 a§ Fac=1 o AWaar i agr
7| AfepieT & o et Srer foram ar?

(A) FITEAR (B) U

(C) |rFEaR (D) AR

g v 3G aI5H W UF T A giaror Y 3K 4 6 A
FANY AT &, T 1S 3R FsHT 2 p A A avar §, AR
ar$ 3R Az AR 4 5 s €, o o Rrwr fyemr S s e
2

(A) 3T (B) Ui

©) w (D) &faor

FAY Frgher A SBT0T U T Hr 3R 8 I Hr gy T
& &, B g & AT gzt 20 A Y gl e ST ¥ "
g8 3R @ AT 3R 8 A St ufRia &Y 3R 6 #Hr S §
TET § 95 3R qF A 3R 2 W A gl a& Jer &1 /W aw
afRer &1 3R 4 7 g & AR A gRor e Hr 3w 2 A
ST 38 T T Fh Il &1 T8 URIFHD T J Fohetell g7
®?

(A) 12 3

(B) 10 &t

(C) 8 &t

(D) 6 &
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86.

87.

88.

89.

90.

In a class, the height of 18 boys is more than 160 cms.
If it is three fourth of total boys and the number of total
boys is two third of total students, then find out the
total number of girls in that class.

(A) 06
(B) 12
(C) 18
(D) 24

In a line some boys are sitting. P is sitting on the 14"
place from left and Q is sitting on the 7" place from
right. If four boys are sitting between P and Q, then
find out the total number of boys in the line.

(A) 25
(B) 23
(C) 21
(D) 19

In a class, the Roll No. of Sanjay is 7 from the top and
28 from bottom. Find out the total number of students
in the class.

(A) 37
(B) 36
(C) 35
(D) 34

Complete the pattern.

1/2, 3/4, 5/8, 7/16, ?
(A) 9/32
(B) 10/17
(C) 11/34
(D) 12/35

A runs faster than E but not like D. D runs faster than
C, but not like B. Who is the fastest runner?

(A) A
(B) B
© C
(©) D

From the given alternatives, find out the word which can be
formed from the given alphabets of the word.

91.

92.

GLAZE

(A) GLAD
(B) LAZY
(C) ZEAL
(D) LEASE

CIRCUMSCRIBE

(A) TRIBES
(8) BARBER
(C) SCARE

(D) CRUMBS

86.

87.

88.

89.

90.

T HET H 18 @Ed 160 A & 3WF @@ ¥ IR A
Pl o5l b dld TAUE W qAT FD B P FEA
et & g e & R @, df ga’ fF g9 wem A
ol forael aisfrar &7

(A) 6

(B) 12

(©) 18

(D) 24

fFft faR A go TS IS P I A dled W W eI ¥
IRQeATAT TR ISR AR P IR QF A H IR
IS5 @, A 3 AR # Fel v TP &2

(A) 25

(B) 23

©) 21

(D) 19

frdY e FA o P HHAG W T Fiaar 3R A F
HeorBHal & | Tard foh 38 &t 3 Pt forcter framef &2

(A) 37

(B) 36

(C) 35

(D) 34

Soft 3 31eTem A== i a1 3Muen?

1/2, 3/4, 5/8, 7/16, ?
(A) 9/32
(B) 10/17
(C) 11/34
(D) 12/35

A E @ a1 gisar &, foheg D foraem &1 &l DC & &
adlsar ¥ freg B Sidem asr & wa@ aer Wl dlgar ¥2
(A) A
(B) B
©c
(D) D

fRd v fawmeut & @ 3@ o # AT S I v e A
e e § T ol

91.

92.

GLAZE
(A) GLAD
(B) LAZY
(C) ZEAL
(D) LEASE

CIRCUMSCRIBE
(A) TRIBES

(8) BARBER

(C) SCARE

(D) CRUMBS
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93.

94.

95.

96.

97.

98.

99.

100.

Complete the pattern:

1,2,6, 24,7
(A) 60
(B) 90
(C) 120
(D) 150

Complete the pattern:

2,15, 41, 80, ?
(A) 112
(B) 120
(C) 132
(D) 130

90:81::120:7?

(A) 144
(B) 169
(C) 108
(D) 124

81:3:27 :: ?:?:125

(A) 125,25
(B) 216, 36
(C) 625,25
(D) 625,5

In the following number series, how many times the
two consecutive numbers have a difference of 4?

2,8,3512786,437398517345,1,2,
7,3,4,6,51,6,5,1,8,7,2

(A) Six
(B) Four
(C) Five
(D) Seven

In the following number series, how many times
number 2 has come before 8 but 3 has not come after
8?

3,4,2,8,3,52,8,6,7,4,2,8,6,6,2,8

(A) One
(C) Four

(B) Three
(D) Two

If L = 20 and RED = 51, then BLUE = ?
(A) 65 (B) 72

(©) 76 (D) 82

If GO = 105, SO = 285, then RAT = ?

(A) 340
(B) 370
(C) 325
(D) 360

93.

94.

95.

96.

97.

98.

99.

100.

T Hifsd
1,2,6, 24,7
(A) 60

(B) 90

(C) 120
(D) 150

o Hifed
2,15, 41, 80, ?
(A) 112

(B) 120

(C) 132

(D) 130

90:81::120:7?
(A) 144
(B) 169
(C) 108
(D) 124

81:3:27 .. ?:7?: 125
(A) 125,25
(B) 216, 36
(C) 625, 25
(D) 625,5

Aol s@er & fFder IR W g TR T
3$ ¥ et 3R 4 &2
2,8,3,5/1,2,7,8,6,4,3,7,3,9,85,1,7,3,4,5,1, 2,
7,3,4,6,51,6,5,1,8,7,2

(A) BT

(B) IR

(C) urd

(D) &1

Reafaf@a s@er & fhdell IR &A1 2 §EAT 8 W TR
3¢ ¥ AfheT wEAT 3 TEAT 8 & dIe 7E IS ¥
3,4,2,8,3,5,2,8,6,7,4,2,8,6,6,2,8

(B) de
(D) &

(A) T
(C) IR

gfg L =20 3R RED =51, a@ BLUE = ?

(A) 65 (B) 72
) 76 (D) 82

gfd GO =105, SO =285, df RAT= ?
(A) 340
(B) 370
(C) 325
(D) 360
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SPACE FOR ROUGH WORK

G P & U w@wH
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59 IR W B A feres § v

O IR T e H F T U N9 GRAEH d Aot i o,
gl B N 30 § SR e BifST de orean o e

w8 A qaerh B gRI H qu JRAE Sed ol I
R Tel fEemen gRae fel B

AT A, PG §& IR .0H.AR. (OMR) €& @ 7% W e I ™ W A /&
S @iEe U9 & WY ST TR WA T AR e SRR i

T TF TG [ H q0Er & SEH 0% T & A %% (A) § (D) 7% 9R e SR 2l
B oMUR fER F St off ST W R IEH SN, I | fafed @i omw SwX weT gRaw
T |

oo ue arfart

SU-UF T @ G P B T & R Pl 7R H MO ok e a1 3§ A

I U IO HISTH | G B o ST 39 e A1 IF-aF e @M Sf¥ar IX Ui
P TE F W@ A /AE T W I U A& R o e 8 @ osEs g e
aregedf 9x Erm

TG B g § R o Erll e A e o =R R S BAS WO3H Bl SAgH T
gl

B Th U % [T &ad T 8 IR SR hl Th § A I a4 T U H His b el e
ST SAX & g A FET A ST A T e g W o fawe (B o o) 7 R
B et # Rl o R 8 W Oodide @ [T Sl SR & SHiwam JE S

FORICY, WIESE, IS, hefaied Giedl a1 36 THR & His 9 I T BFell o oremg /dest avel
A &1 ST g e & A 2

10.

e Eia & e oTUA ITR-URIH Wae® dl AME HX a1 SALOH.R. IAX UG b GO
T | FqET o AT aid & T BT 9SG Y B
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